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1. For the circuit shown in Fig. I,
(a) find the Norton equivalent circuit between terminals a and b, and (15%)
(b) find the maximum power deliverable to Rr. (5%)

2. The circuit in Fig. 2 is a differential amplifier driven by a bridge. Given vi = 15.5 mV, find va, w, and
Vo, Tespectively. (15%)

3. Given C=0.2F, L =20H, and is(f) = 3.5u(?) A in the circuit of Fig. 3, find vc(#) and ir(2). (15%)

Ry
_'1'1'1
_ 20kQ 80 kQ
a (‘i 20V * b Va
Py
\
=200
10 T
AAA AAA
vy vy
20 0
+)3o0v .
=100
-3
100 =100(})5A
Fig. 1 Fig. 2
+ Vi
L ok B




@ 170 BILAREhAER 111 BHE R IR A E s
% B WHTRER -

ERE - R - HEUEHA £ 0219 B 1
P2E 2K | )

M EERER - ARMBETERNER - SREREBRFES  RESRELFEEE AT -

4. The ideal op amp circuit shown in Fig. 4 has the parameters: R = 2Rr=10 kQ, L = 5 mH, and C, = (2
=1 pF. Find the op amp circuit’s oscillation frequency inrad/s. (10%)

Ry

Fig. 4

5. Find the impulse response of the circuit having the following transfer function. (10%)
H(s)

_ s+4
(s+1)(s+2)

6. For the three-phase circuit shown in Fig. 6, assume the two wattmeters are properly connected to the
unbalanced three-phase load (Zz =20 Q, Zsc=10—;10 Q, and Z¢4 = 12 +55 Q) supplied by a balanced
three-phase source such that Va5 = 208.20° V with abe phase sequence. Obtain the readings of the two
wattmeters first, and then calculate the total active power, total reactive power,. total apparent power,
total complex power, and total power factor of the unbalanced three-phase load. (30%)
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